CLASS : 10th (Secondary) Code No. 4803
Series : Sec. M/2020

Roll No. SET : A
o

MATHEMATICS
(Academic/Open)
[ =R Tg SISl AT |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TIT 3 g2 | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

o FUW g I T fF 3T FeT9F T GRT g 16 T
797 32 81
Please make sure that the printed pages in this

question paper are 16 in number and it contains
32 questions.

o Jo7-UF H e & # 3T /9 T8 HE TR 7ol qe #H
B -Gl & JE-7 U7 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

o ZYY o7 F FIT [0GT & FT G GEl, FT FH HHE
ST [1E]

Before beginning to answer a question, its Serial
Number must be written.

4803/(Set : A) P.T.O.



(2) 4803/(Set : A)
o FTCYRTHE % T 7 @l g/ 9 T 8Ig)

Don’t leave blank page/pages in your answer-book.

o JUTyRTE % GfaRFT #F o dic TE Al o
STEETFE & [rE SiT forar Fav 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o TR Gy T To FIT-GF YT HFT [or@)

Candidates must write their Roll Number on the
question paper.

o U J9T F FIT 37 @ {4 I8 Gved B T [ JeT9H
g7 g @& 8, T # W 39 g9 7 Fg 0 amr
@B T8 BT A

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G F3sT
General Instruction :
() &H 7T o 8
All questions are compulsory.
(i) 5 §97-97 7 F7 32 §97 & &l [ G Gl I
gTINTHICTE -
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:

4803/(Set : A)



(3) 4803/(Set : A)

G & 5T G F1 716 7% 7 16 F97 &,
g% F97 1 3% & &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G §: 57 T F17 21 T 375 J97 &,
JR% 797 3 9% F &

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G T : 39 G 522 §27 T FT 6 97 5,
T9% 797 & 5% T &1

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 737 % 428 @32 T FAT 5 F97 8,
J9% J97 5 31F & 81

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) @9 § T & goi 7 oyiRk® Rwey [T 1@ &
37 @ Q& 797 F T 81
Section D contains two questions where

internal choice have been provided. You

have to choose one of them.

4803/(Set : A) P.T.O.



(4) 4803/(Set : A)
gus - A
SECTION - A

1. o.375aﬁg%wﬁaﬁﬁﬁm 1

Express 0.375 in the form g

2. 6x%-7x-3% & ¢ : 1
1 3
A) -, =2
(A) 3’ 5
7 3
(B) _57 _g
7 3
© % -=
6 6
(D) = 9 HE 7@l
The zeroes of 6x2 —7x—3 are :
1 3
A -=, =2
(A) 3’ 5
7 3
(B) _57 _6
7 3
< - ——
6 6

(D) None of these

4803/(Set : A)



(5) 4803/(Set : A)

3. x+y=14, x—y=4 % & HIT| 1
Solve :
x+y=14, x-y=4

4. HE-G @ 0 A P. B ? 1
A) 2,4,8,12, .......
(B) 0.2,0.22,0.222, ......
(C) -10,-6,-2,2, ......
(D) 1,3,9,27, ...

A 2,4,8,12, .......

(B) 0.2, 0.22, 0.222, ......

(D) 1,3,9,27, ...

5. 2,7, 12, ...... .A.P. & 1091 U% 3G HioT 1
Find the 10th term of A. P. 2, 7, 12, ...... .

6. HICh H RU =& § | T& AKT H T HA 8, R
W & 9RT : 1
TG e B Bl (qatam, qeen)

4803/(Set : A) P.T.O.



(6) 4803/(Set : A)

Fill in the blank using correct word given in

bracket :

All circles are ............ . (congruent, similar)

7. & TIEY DS H OGEIRT & UG 4 : 9 8, A I

Bl Bl STU & 1
(A) 16:81 (B) 8:18
(C) 81:16 (D) 12:27

Sides of two similar triangles are in the ratio 4 : 9.

Areas of their triangles are in the ratio :
(A) 16:81 B) 8:18

(C) 81:16 (D) 12:27

8. A A THEY By & %A HAM: 36 W2 @R
121 412 8, @ ITh HIG eI H I © 1

A) 11:6
B) 6:11
(€ 9:11
(D) & @ Fg T

4803/(Set : A)



(7) 4803/(Set : A)

If the areas of two similar triangles are 36 m?
and 121m? respectively, the ratio of there
corresponding sides is :

(A) 11:6 B) 6:11
(C) 9:11 (D) None of these

9. Uh fg O § Th g0 W Wl 1@ Hl Teg 24 JT e
Q  F= | 30 25 T &1 g9 H B 79 Hw 1

From a point Q, the length of tangent to a circle
is 24 cm and distance of Q from centre is 25

cm. Find the radius of circle.

10. (2, 3) ¥R (4, 1) forgell & = &1 g0 oq d@ 1
Find the distance between the points (2, 3) and
(4, 1).

11. 3R YE@Ese @ 79 g (3, 4) ¢ Fw & R
(7,-2) B, @ TR MR o1 FRai® &g 7@ s 1

If (3, 4) is mid point of the line segment whose
one end is (7, —2), then find the coordinates of

the other end point.

4803/(Set : A) P.T.O.



(8) 4803/(Set : A)

12. 8005 o om am dfm 1
cot25°
Find the value of tan 65 .
cot25°
13. ZlﬁsinA:%,ﬁfcosA%I 1
4 J7
A —= B —
J7 4
3 .
c) — D g Tel
© 5 (D) & & &5
) 3 )
If smA:Z, then cos Ais :
4 J7
(A) N B —
7 4
(@) 3 (D) None of these
J7

14. B 4 99 9@ O g9 @ Brous @ and S
HITT, T BT 30° 1 (= 3.14 % FANT FHivMQ) 1

Find the area of a sector of a circle with radius

4 cm, if angle of the sector is 30°. (Use n = 3.14)

4803/(Set : A)



(9) 4803/(Set : A)
15. TET S B YR H A 2r & a1 I SHas h

Tl T T GAE | 1
A)  nrlh

(B) 2nrh

(C) 2mr(r+h

(D) = & ®§ T

The diameter of the base of right circular
cylinder is 2r and its height is h. The curved

surface area is :

A)  nrlh
(B) 2nrh
(C) 2mr(r+h

(D) None of these

16. UH 9 H 3 il g, 2 g%e AT IR 4 I g &1 IR
% & I aghes Pl T R, O 5o qoe am
& TR F e 7 1

A bag contains 3 blue balls, 2 white balls and 4
red balls. If one ball is taken out at random from
the bag. What is the probability that it will be
White ?

4803/(Set : A) P.T.O.



(10) 4803/(Set : A)
gos - §

SECTION - B

17. Rs HINT % V2 TF oAy e R 3

18.

19.

20.

Prove that \/5 is an irrational number.

Igua p(x)=3x3+x2+2x+5 &l EERE
gx)=x>+2x+1 & W 9F FOT HqOHA SR
AYERS STT BISTTY 3

Divide the polynomial p(x)= 3x3 +x% +2x+5
by the polynomial q(x)zx2 +2x+1. Find the

quotient and remainder.

90 §Hl ® T A Th aehl g @ Uh TN B
AR § W 1.2 H/F. A 9 q 90 W Bl IR s
9 & 3.6 W1 # TaR W B, A 4 G & 39 qSH!
P BT B AE S BT 3

A girl of height 90 cm is walking away from the
base of a lamp-post at a speed of 1.2 m/s. If the
lamp is 3.6 m above the ground, find the length

of her shadow after 4 seconds.

s #ifeg - 3

seCc A(l —sin A) (secA+tan A) =1

4803/(Set : A)



21.

22.

23.

(11) 4803/(Set : A)

Prove that :

seC A(l —sin A) (secA+tan A) =1

I B R S P oTee 8%d 6.16 9281 3

Find the circumference of a circle whose area is
6.16 cm?.

gus - 9
SECTION - C
B HIT 4
5 N 1 _ i 6 3 _
x-1 y-2 x-1 y-2
Solve :
> + L =2 and—6 3 .
x-1 y-2 x-1 y-2

Th Hed-aie, fras o) o & g 18 5 /ave §,
24 fHl 90 &% Widge S H, 9@ g0 4R % TR
M @ e 1 ger e ol B T I S
I 4

4803/(Set : A) P.T.O.



24.

25.

26.

27.

(12) 4803/(Set : A)

The speed of motor-boat is 18 km/h in still
water. It takes one hour more to 24 km
upstream than to return downstream the same

distance. Find the speed of the stream.

A. P.: 24,21, 18, ...... % fhaq ug R S, qife
I AT 78 7 4

How many terms of A. P. : 24, 21, 18, ......

should be taken so that their sum is 78 ?

el arr farg & g9 W di T wst el @ arEar
T B 8, fas At 4

Prove that the length of tangents drawn from an

external point to a circle are equal.

g (-4, 6), geTt A(-6, 10) 3R B(3, -8) & e
il Y@rEvS e U A e war B 4
In what ratio does the point (-4, 6) divides the
line segment joining the points A(-6, 10) and
B(3, -8).

I TR ° Bl T3 52 T B U TgS H | T Il
frepret o 31 WiReRaT S FINTE fF ¥E W) T
TFRT BT, (ii) T T <Tel Bl 4

4803/(Set : A)



28.

29.

30.

(13) 4803/(Set : A)

One card is drawn from a well-shuffled deck of
52 cards. Calculate the probability that the card

will (i) be an ace, (ii) not be an ace.

gug - §
SECTION — D

T F # R & @i 2x2 -5x+3=0 @
& I 5

Solve  the equation 2x2 -5x+3=0 by
completing the square method.

4 9, 5 A SR 6 G YIS ad TF BrgS # @A
F IR X 6% @eq & o BIgS & @A

w,wwmgmﬁaﬁwwﬁaﬁ%
T & 5

Construct a triangle whose sides are 4 cm, 5 cm
and 6 cm and construct a similar triangle whose

sides are %th of the corresponding sides of

given triangle.

s @it 5

sin®+cos0-1 1

sin®—-cos0+1 B secO+tan0

4803/(Set : A) P.T.O.



31.

(14) 4803/(Set : A)

Prove that :

sin0+cos0-1 1
sinO—-cosO+1 secO+tanO

AYqT
OR

1.2 H @ o w9 § 88.2 W H FAE W
Afst Y@ & g1 § 9% W@ [ER # @l o B S
8T ASH B A § TER B ST BT 60° H ol
HE G q& IAT BT HEHT 30° B IR Bl W
R & ARH R B T B T gU H e

A 1.2 m tall girl spots a balloon moving with the

wind in a horizontal line at a height of 88.2 m
from the ground. The angle of elevation of the
balloon from the eyes of the girl at any instant is
60°. After some time, the angle of elevation
reduces to 30°. Find the distance travelled by

the balloon during the interval.

a oL, B A Ud% B EEE 64 AU B, & Hore
il Bl AT T SS90 ST 81 399 W g
H T SAEA G BT 5

4803/(Set : A)



(15) 4803/(Set : A)

Two cubes each of volume 64cm3

are joined
end to end. Find the surface area of the resulting

cuboid.

32. 1 far g deT Uh U % 30 faid & AR aw
@l B foeniiEl & @emm WS ST 5

AR (fFomo #)|40-45|45-50 |50-55|55-60 | 60-65 | 65-70|70-75
fenfeill & | 2 3 8 6 6 3 2
e

The distribution below gives the weight of 30
students of a class. Find the median weight of

the students :

Weight (in kg) | 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75

Number of 2 3 8 6 6 3 2
Students
g
OR
fordl Hiecd & 25 TRART # Ao W Y e 21
Ao T gAT WA FF A HioT

g (§o ) |100-150|150-200/200-250|250-300|300-350
et & ge 4 5 12 2 2

4803/(Set : A) P.T.O.



(16) 4803/(Set : A)

The table below shows daily expenditure on food
of 25 households in a locality. Find the mean

daily expenditure :

Expenditure (in Rs.) 100-150(150-200[200-250{250-300| 300-350

No. of households 4 5 12 2 2

4803/(Set : A)



CLASS : 10th (Secondary) Code No. 4803
Series : Sec. M/2020

Roll No. SET : B
o

MATHEMATICS
(Academic/Open)
[ =R Tg SISl AT |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TIT 3 g2 | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

o FUW g I T fF 3T FeT9F T GRT g 16 T
797 32 81
Please make sure that the printed pages in this

question paper are 16 in number and it contains
32 questions.

o Jo7-UF H e & # 3T /9 T8 HE TR 7ol qe #H
B -Gl & JE-7 U7 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

o ZYY o7 F FIT [0GT & FT G GEl, FT FH HHE
ST [1E]

Before beginning to answer a question, its Serial
Number must be written.

4803/(Set : B) P.T.O.



(2) 4803/(Set : B)
o FTCYRTHE % T 7 @l g/ 9 T 8Ig)

Don’t leave blank page/pages in your answer-book.

o JUTyRTE % GfaRFT #F o dic TE Al o
STEETFE & [rE SiT forar Fav 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o TR Gy T To FIT-GF YT HFT [or@)

Candidates must write their Roll Number on the
question paper.

o U J9T F FIT 37 @ {4 I8 Gved B T [ JeT9H
g7 g @& 8, T # W 39 g9 7 Fg 0 amr
@B T8 BT A

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G F3sT
General Instruction :
() &H 7T o 8
All questions are compulsory.
(i) 5 §97-97 7 F7 32 §97 & &l [ G Gl I
gTINTHICTE -
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:

4803/(Set : B)



(3) 4803/(Set : B)

G & 5T G F1 716 7% 7 16 F97 &,
g% F97 1 3% & &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G §: 57 T F17 21 T 375 J97 &,
JR% 797 3 9% F &

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G T : 39 G 522 §27 T FT 6 97 5,
T9% 797 & 5% T &1

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 737 % 428 @32 T FAT 5 F97 8,
J9% J97 5 31F & 81

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) @9 § T & goi 7 oyiRk® Rwey [T 1@ &
37 @ Q& 797 F T 81
Section D contains two questions where

internal choice have been provided. You

have to choose one of them.

4803/(Set : B) P.T.O.



(4)
qUs - 3
SECTION - A

1. o.1o4aﬁ§%wﬁwaﬁﬁm

Express 0.104 in the form g

2. 4x% - 4x+1% & ¢ :

o L
© 15
D) -5, 1

oL
© 1, %
D) -5, 1

4803/(Set : B)

4803/(Set :

B)



(5) 4803/(Set : B)

3. x—y=3,§+%=6aﬁaﬁraﬁml 1
Solve :
X Yy
x-y=3, -+==6
Y=< 37,
4. HT-G1 T JM A. P. 2 ? 1

A) 1,2,4,8,.......
(B) 5,8, 12, 15, ......
(C) 3,6,9, 12, ......

(D) 9 q B 7

Which one is an A. P. series ?
A 1,2,4,8, .......

B) 5,8,12,15, ......

C) 3,6,9, 12, ......

(D) None of these

5. 7,10, 13, 16, ...... A.P. 3 1297 U8 519 didvm@ 1

Find the 12th term of A. P. 7, 10, 13, 16, ...... .

6. HICHh H RU =& § | T& AKT H T4 HA 8, R
W H 9RT ¢ 1

aft g .. B 2 (qerem, watmew)

4803/(Set : B) P.T.O.



(6) 4803/(Set : B)

Fill in the blank using the correct word given in
bracket :

All squares are ............ . (similar, congruent)

7. & TS DS H SRl & UG 3 : 58, Al o

Bl Bl STU & 1
(A) S5:3 B) 9:25
(C) V3 :45 (D) =78 g &

Sides of two similar triangles are in the ratio 3 : 5
areas of their triangles are in the ratio :

(A) 5:3 (B) 9:25

(©) J3 15 (D) None of these

8. IR DE|| BCAR AD:BD=2:3, Q 8% (AADE) :
8% (AABQC) ® : 1

(A) 2:5
B) 3:5
(C) 4:25
(D) 2:3

4803/(Set : B)



(7) 4803/(Set : B)

If DE || BCand AD : BD = 2 : 3, then area (AADE)
: area (AABQ) is :

A) 2:5
B) 3:5
(C) 4:25
D) 2:3

9. % g 4 TF g0 W @l W il @B 4 4 iR
g # ga & &= @ g0 5 & 21 99 @ B 79
I 1

The length of tangent from a point which is at a
distance of 5 cm from the centre of circle is
4 cm. Find the radius of circle.

10. (-5, 7) 3R (-1, 3) fagaft & 9 & g4 7 ;v 1

Find the distance between the points (-5, 7) and
(-1, 3).

11. IR 0F WETS H & /0 0@ &g & Sew 19 5y
(1,0) %, TR RR &1 FRsis w1 Hivm 1

If origin is at one end of a line segment whose
mid point is (1, 0), find the coordinates of other

end of segment.

4803/(Set : B) P.T.O.



12.

(8) 4803/(Set :

tan26°
cot 64°

N qH S HioT|

tan26°
cot 64°

Find the value of

13. I sinAzg, Atan A T :

14.

w B

© I D) T & A T
If sinA :%, then tan Ais :

w ®) %

©) % (D) None of these

B)

6 O Bl g O g9 & PreuEre @ 8ued S

FHITT ST BT 60° B

1

Find the area of a sector of a circle with radius

6 cm, if angle of the sector is 60°.

4803/(Set : B)



(9) 4803/(Set : B)
15. T S B YR H A 2r & a1 3% SHas h

g, TRl IO A © 1
(A) 2nrh

(B) 2nr(r+h)

(C) nrh

(D) T @ Fi Tl

The diameter of the base of right circular
cylinder is 2r and its height is h. The total

surface area is :

(A) 2nrh
(B) 2nrr(r+h
(C) nrh

(D) None of these

16. UH 9@ § 3 il g, 2 g%e AT IR 4 I AT &1 IR
% T I | aghes FErl o E, O ae 99 e
& TR F@ e 7 1

A bag contains 3 blue balls, 2 white balls and 4
red balls. If one ball is taken out at random from
the bag. What is the probability that it will be
Blue ?

4803/(Set : B) P.T.O.



17.

18.

19.

20.

(10) 4803/(Set : B)
gos - §

SECTION - B

R HIT % V3 Th FAURAT HE&A B 3

Prove that \/§ is an irrational number.

ERSEY p(x):3x2—x3—3x+5 &l EERE
gx)=x—1-x2 B TR AFT HIOW AFHA AR ATHA
EIREEISIY 3

Divide the polynomial p(x)= 3x2 - x3-3x+5
by the polynomial g(x)= x-1-x2. Find the

quotient and remainder.

CM 3R RN Y. AABC 3R APOR &1 At § Iy
AABC ~ APQRE, @1 fos #ifote & : 3
AAMC ~ APNR

CM and RN are respectively the medians of
AABC and APQR. If AABC ~ APQR, prove that :

AAMC ~ APNR

s #ifeg - 3

cotA—-cosA cosecA-1
cotA+cosA cosecA+1

4803/(Set : B)



21.

22.

23.

(11) 4803/(Set : B)
Prove that :

cotA—-cosA cosecA-1
cotA+cosA cosecA+1

gq P &GS T 5, ST G 11 T GO 9 & B
qRET & SEX ® 7 3

What is the area of the circle, the circumference
of which is equal to the perimeter of a square of

side 11 cm ?

gue - q
SECTION -C
3 5
242213 R 2 -1 =2 i Eq P 4
x Yy
Solve :
g+§:13andi—i:—2
x Yy x Yy

U I@EEI TF 99F 9 § 360 f&d & g @ &
21 3 7' 9w 5 fRH/gver ofe B, O g SE aEn
g 1 g7 %9 9 dall Il B 91 o i 4

4803/(Set : B) P.T.O.



24.

25.

26.

(12) 4803/(Set : B)

A train travels 360 km at a uniform speed. If the
speed had been 5 km/h more, it would have
taken 1 hour less for the same journey. Find the

speed of the train.

A.P.:9, 17,25, ...... 3 fopaw Ug fetT oM, afeh S
T 636 8 ? 4

How many terms of A. P. : 9, 17, 25, ...... should

be taken so that their sum is 636 ?

el T faeg & g9 W 9 T wet el @ awar
R B 8, fas #ifm 4

Prove that the length of tangents drawn from an

external point to a circle are equal.

3 fog & Fewi® @ &t s fget (4, -3) &R
(8, 5) HI S A EETS P idRe €4 § 3: 1%
A H fasiord Fa B 4

Find the coordinates of the point which divide
the line segment joining the points (4, —3) and

(8, 5) in a ratio 3 : 1 internally.

4803/(Set : B)



27.

28.

29.

(13) 4803/(Set : B)

Th g/ H 4 99, 3 % R 2 @@ F (marbles)
T AR 0 T § A UF Fa1 AGHA W S &, o
THH FT WA B % g8 & (i) 9% 2 (i) e
(iii) ST B 4

A box contains 4 blue, 3 white and 2 red
marbles. If a marble is drawn at random from
the box, what is the probability that it will be
(i) White (ii) Blue (iii) Red.

gug - §
SECTION — D

oof ot a W @ fafr & ' 5x% -6x-2=0 @
&1 i) 5
Solve the equation 5x2 -6x-2=0 by
completing the square method.

5 &, 6 Tl AR 7 A GeIel i T B[S &
HIT AR 3q% TOEU TH Y B B @A A

Rt st R 3@ Byt & & el @~ e A
5
5

Construct a triangle whose sides are 5 cm, 6 cm
and 7 cm and construct a similar triangle whose

sides are %th of the corresponding sides of

given triangle.

4803/(Set : B) P.T.O.



30.

31.

(14) 4803/(Set : B)
g #IfTT - 5

CosA-sinA+1
cosA+sinA-1

=cosecA +cot A

Prove that :

CosA-sinA+1
cosA+sinA-1

=cosecA +cot A

AYqT
OR

Th T F J0 B TH NG d T b g BN B
ST T A 30° X 45° B AR g REARE @ 3
HIeX i S WA, A T4 H AE [ Bl

From a point on a bridge across a river, the
angle of depression of the banks on opposite
sides of the river are 30° and 45° respectively. If
the bridge is at a height of 3 m from the banks,
find the width of the river.

T T Th GEd AT & STERX H & PEdh I
Th GEe o TR Bl TN @ A 14 S &
AR 30 T H FA HaR 13 T B 3T T @
ARG TR 8% F1d HioTd| 5

4803/(Set : B)



(15) 4803/(Set : B)

A vessel is in the form of a hollow hemisphere
mounted by a hollow cylinder. The diameter of
the hemisphere is 14 cm and total height of the
vessel is 13 cm. Find the inner surface area of

the vessel.

32. HRaa arel | I &5 & fqameal | Afear farewhi
% U S @l Sl 81 afear et & arer ufde
ST HITT 5

aigar faemt #1|15-25|25-35(35-45|45-55|55-65 | 65-75 |75-85
fcrerd

A @ G 6 11 7 4 4 2 1

The table below gives the percentage distribution
of female teachers in the schools of rural areas.

Find the mean percentage of female teachers :

Percentage of | 15-25|25-35|35-45|45-55|55-65|65-75|75-85

female teachers

Number of 6 11 7 4 4 2 1

areas

4803/(Set : B) P.T.O.



(16) 4803/(Set : B)
UG
OR

fr=ifaiad IRaRaT de7 5t Ao & Ao & i
GUd AT 31 39 S H G0 ST HINTT

¥ @4 | 65-85 | 85-105|105-125[125-145/145-165|165-185
(et #)
PRI G 4 5 13 20 14 4

% HE

The following distribution gives the monthly

consumption of consumers of a locality. Find the

median of the distribution :

Monthly 65-85(85-105|105-125(125-145|145-165|165-185
Consumption

(in Units)

Number of 4 5 13 20 14 4

Consumers

4803/(Set : B)
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(2) 4803/(Set : C)
o FTCYRTHE % T 7 @l g/ 9 T 8Ig)

Don’t leave blank page/pages in your answer-book.

o JUTyRTE % GfaRFT #F o dic TE Al o
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Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
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G F3sT
General Instruction :
() &H 7T o 8
All questions are compulsory.
(i) 5 §97-97 7 F7 32 §97 & &l [ G Gl I
gTINTHICTE -
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:

4803/(Set : C)



(3) 4803/(Set : C)

G & 5T G F1 716 7% 7 16 F97 &,
g% F97 1 3% & &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G §: 57 T F17 21 T 375 J97 &,
JR% 797 3 9% F &

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G T : 39 G 522 §27 T FT 6 97 5,
T9% 797 & 5% T &1

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 737 % 428 @32 T FAT 5 F97 8,
J9% J97 5 31F & 81

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) @9 § T & goi 7 oyiRk® Rwey [T 1@ &
37 @ Q& 797 F T 81
Section D contains two questions where

internal choice have been provided. You

have to choose one of them.

4803/(Set : C) P.T.O.



(4) 4803/(Set :
ge - I
SECTION - A

1. 0.0875 & g & &Y § @ Hikg

Express 0.0875 in the form g

@ -1-3
® 1-3
© -1
o 15

The zeroes of 3x2 -x-4 are:

@ -1-2
® 1L
© -1
o 1

4803/(Set : C)



(5) 4803/(Set : C)
3. x+y=53N 2x -3y =4 F & HIOW 1

Solve :
x+y=5and 2x-3y=4

4. HF-G T 9 A. P. B ? 1
A 1,3,9,27, .......

B) a, 2a, 3q, 4aq, ......
(C) aq, a2, a3, a4, ......

(D) 12, 22, 32, 42, ...

A) 1,3,9,27, .......

B) a, 2a, 3a, 4a, ......
C) aq, a2, a3, a4, ......
(D) 12, 22,32, 42, ...

5. 10,7, 4, ...... A. P. & 304l Ug Sq I 1
Find the 30th term of A. P. 10, 7, 4, ...... .

6. How H QT =l § § TR I= H TAN HA g, N
T &l 9RT 1

(55 AU Bt aweg 80 81 (wwfEeTg, @)

4803/(Set : C) P.T.O.



(6) 4803/(Set : C)

Fill in the blank using the correct word given in
bracket :

All ............ triangles are similar.

(isosceles, equilateral)

7. A THET B & S%al B SAE 4 : 58, @ ITh

I oIt &l U @ 1
(A) 16:25 B) 5:4
(C) 4:35 (D) 2:45

Areas of two similar triangles are in the ratio of
4 : 5, then the ratio of their corresponding sides is :

(A) 16:25 (B) 5:4
(C) 4:5 (D) 2:4/5
8. B #, AB || OR, AB =3 @i, OR = 9 @l &R
PR=6 8, PB&H T=E & : 1
P
A B
o) R
(A) 4 @i (B) 3 W
(C) 2 8 (D) 378 q Fi3 &

4803/(Set : C)



(7) 4803/(Set : C)

In figure, AB || QR, AB=3 cm, QR =9 cm and
PR = 6 cm, the length of PBis :

P
A B
Q R
(A) 4cm (B) 3 cm
(C) 2cm (D) None of these

9. PG/, 30 W @l 3@ & TR 12 & 8 R &=
P& gl 13 & &1 g9 @ Brewr s wifm 1

From a point P, the length of tangent to a circle
is 12 cm and distance of P from centre is 13 cm.
Find the radius of circle.

10. (-1, 5) iR (7, 3) f&rgell & 9= &1 g @ @ 1

Find the distance between the points (-1, 5) and
(7, 3).

11. A % fEui® a0 HW, el AB g & & & e
% (2, -3) 8 AN B(1, 4) B 1

Find the coordinates of A, where AB is diameter
of circle whose centre is (2, -3) and Bis (1, 4).

4803/(Set : C) P.T.O.



12.

13.

14.

cos 37°

(8) 4803/(Set :

N qH S HioT|

sin 53°

Find the value of

cos 37°

sin53°

T cotA= O A sinAd:

(A)

©)

15°
= ®
15
= (D) ¥ q B &

8

If cotA :%, then sin Ais :

(A)

©)

15 8
ke (B) —
17 17
15

ry (D) None of these

gq @ aRfr 22 & Rl g9 @ B S| Fivw

C)

Circumference of a circle is 22 cm, find the

radius of the circle.

4803/(Set : C)



(9) 4803/(Set : C)
15. T S B YR H A 2r & a1 3% SHas h

T I H A T 1
(A) 2nr(r+ h)

(B) nrh

(C) 2nrh

(D) & @ FHg T

The diameter of the base of right circular
cylinder is 2r and its height is h. The volume of

cylinder is :

(A) 2mnr(r+h
(B) nrh
(C) 2nrh

(D) None of these

16. TF ¥q § 3 Tl Tg, 2 e T X 4 @@ g &1 AR
% T d9 ¥ Aghed M o R, O 36 A em
%l TREeaT T B 7 1

A bag contains 3 blue balls, 2 white balls and 4
red balls. If one ball is taken out at random from
the bag. What is the probability that it will be
Red ?

4803/(Set : C) P.T.O.



17.

18.

19.

20.

(10) 4803/(Set : C)
gos - §
SECTION - B

Rz T % 5 Th HAURAT FE&A Bl 3

Prove that \/g is an irrational number.

ERSEY p(x):x3—3x2+5x—3 e SgUs
gx)=x%-2 B W AN FOW AT TR ATHA
S I 3
Divide the polynomial p(x)= x3-3x2+5x-3
by the polynomial ¢g(x)= x2-2. Find the

quotient and remainder.

6 o TR a TF SHeElEX & & g T B/l &
TEE 4 Ho B A% I FHE ThH HMR W BAT A
TR 28 Ho Bl HAR & Harn K A 3
A vertical pole of length 6 m casts a shadow 4 m
long on the ground and at the same time a tower
casts a shadow 28 m long. Find the height of the

tower.

g i ¢ 3
sinO0-cos0+1 1
sin®+cos®-1 secO-tanH

4803/(Set : C)



21.

22.

23.

(11) 4803/(Set : C)

Prove that :

sinO0-cos0+1 1

sin®+cos®—-1 secH-tan®

S Sl B URY 72 Tt 31 IHH AFABA FA
HifoTy| 3

The circumference of semi-circular piece of

design is 72 cm. Find its area.

qis - 9

SECTION -C

1l o il Bamatm 4
2x 3y 3x 2y ©

L-FL:Q andi+i:E

2x 3y 3x 2y ©
38y U4 M % AY (aui H) # FeRA (reciprocal)
@Tmﬁsﬁqaaﬁm%wwm%%

IS I Y S i 4

4803/(Set : C) P.T.O.



24.

25.

26.

(12) 4803/(Set : C)

The sum of the reciprocal of Rehman's age (in
years) 3 years ago and S years after from now is

%. Find his present age.

TH JH 40 o YUIBl HT AT ST HOIC S 6 F foeew
2 4

Find the sum of first 40 positive integers
divisible by 6.

Rrs #ifvTT & oF g0 &t Sitar & RRE oX @fer =™ @e
@ ST § TEE D T B 4

Prove that the tangents drawn at the ends of a
chord of a circle make equal angles with the

chord.

frgafl (-3, 10) ¥R (6, —-8) & Siew A WETS FH
RFg (-1, 6) Bbe orgua & fwifora aear R ? 4

In what ratio does the point (-1, 6) divides the
line segment joining the points (-3, 10) and

(6, -8).

4803/(Set : C)



27.

28.

29.

(13) 4803/(Set : C)

T T P Th g BH A 2| Frmad S o &
P MRAHAT ST BT (i) TH AT T (i) 2 R 6 &
dra R 18 g (i) T faww g 4
A die is thrown once. Find the probability of
getting (i) a prime number (ii) a number lying
between 2 and 6 (iii) an odd number.

gug - §
SECTION — D

f @ TR T 2x% - 7x+3=0 ® &
i 5

Solve the equation 2x2 - 7x+3=0 by
completing the square method.

X 8 it IR Hak 4 & & & wlzarg Brge @t
@ T iR R w6 o B[S @ W SN,

Wﬂﬁﬁ%ﬁﬂﬂ@ﬂ@ﬁﬂﬁﬁ@ﬁﬂﬁaﬁaﬁlé
T B 5

Construct an isosceles triangle whose base is
8 cm and altitude 4 cm and then another

. . 1 .
triangle whose sides are 15 times the

corresponding sides of the isosceles triangle.

4803/(Set : C) P.T.O.



(14) 4803/(Set : C)

30. &5 T : 5

cos 0 cos 0

— + - =2secH
1+sin® 1-sin®

Prove that :

cos 0 N cos 0
1+sin® 1-sin®

=2secO

AYqT
OR

AT N | TF US T I & 9N T g AN W
TWE gg ol & % I & Rer sHe & g & 8
AR TEE 30° FH HOT a6 31 IS & IR g H g,
et g @ Rre” SN @ e g, 8 dio ¥ YT A FAR
S i

A tree breaks due to storm and the broken part
bands so that the top of the tree touches the
ground making an angle 30° with it. The
distance between the foot of the tree to the point
where the top touches the ground is 8 m. Find
the height of the tree.

4803/(Set : C)



31.

32.

(15) 4803/(Set : C)

s el Brewr 3.5 8 a1 T S & AR & g, SN
SHI Beer 9 U ST R STERING Bl 59 Raa @

wg(ﬂ?ﬁ]élwatﬁ%wiﬁﬁﬁamww
EERIEICIET B

A toy is in the form of a cone mounted on a
hemisphere of radius 3.5 cm. The total height of
the toy is 15.5 cm. Find the total surface area of
the toy.

T% OB MR § 100 HAIH  (surnames) ferg
T IFH YgH SUSH AU & SRRl bl HEA @
o SIRERAT e AT e

el B g | 1-4 | 4-7 | 7-10 [10-13]13-16|16-19

HAH H G| 6 | 30 | 40 | 16 | 4 4

ATl & HEHS HER Bl G S BT 5

100 surnames were picked from a telephone
directory and the frequency distribution of the
number of letters in the English alphabets in the

surnames was obtained as below :

Numberof | 1-4 | 4-7 | 7-10|10-13|13-16|16-19

Letters

Number of | 6 30 | 40 | 16 4 4
Surnames

Determine the median number of letters in the

surnames.

4803/(Set : C) P.T.O.



(16) 4803/(Set : C)

AYqT
OR

frfafad ofiee 75 ool Sum<l & dR@ Siiesier
(e 9) @ gor a9 ©

Gﬁaﬂzﬁlﬁ 0-20 20-40 [40-60| 60-80 80-100 |100-120
(goct )

AR 10 15 12 21 8 9

SUHICN I AT SHa-eh S it

The following data gives the information on the

life-time (in hours) of 75 electrical instruments :

Life-time (in | 0-20|20-40|40-60| 60-80 | 80-100 [100-120

hours)

Frequency | 10 15 12 21 8 9

Find the mean life time of the instruments.

4803/(Set : C)
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o FTCYRTHE % T 7 @l g/ 9 T 8Ig)
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G F3sT
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() &H 7T o 8
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(i) 5 §97-97 7 F7 32 §97 & &l [ G Gl I
gTINTHICTE -
This question paper consists of 32 questions
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(3) 4803/(Set : D)

G & 5T G F1 716 7% 7 16 F97 &,
g% F97 1 3% & &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G §: 57 T F17 21 T 375 J97 &,
JR% 797 3 9% F &

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G T : 39 G 522 §27 T FT 6 97 5,
T9% 797 & 5% T &1

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 737 % 428 @32 T FAT 5 F97 8,
J9% J97 5 31F & 81

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) @9 § T & goi 7 oyiRk® Rwey [T 1@ &
37 @ Q& 797 F T 81
Section D contains two questions where

internal choice have been provided. You

have to choose one of them.

4803/(Set : D) P.T.O.



(4) 4803/(Set :

qis - A
SECTION - A

1. 0.12521%5%@1‘4‘%2!%%113

Express 0.125 in the form q

p

2. 3x% +4x+1% LI ¢©

(A)

(B)

©)

(D)

1
3

1, =

The zeroes of 3x2 +4x+1 are:

(A)

(B)

©)

(D)

4803/(Set :

o1
3

D)



(5) 4803/(Set : D)

3. 3x+4y=103FX x— y =1 & i1 1
Solve :

3x+4y=10and x—-y=1

4. H-H T AN A.P. R ? 1

(A) -1.2,-3.2,-5.2, .......
(B) 2,5,7,9, ......

(C) 1,22%,3%2, 4% ...

(D) 3 &/ ®iE T

(A) -1.2,-3.2,-5.2, .......
(B) 2,5,7,9, ......

(C) 1, 22,3%, 4%, ...

(D) None of these

Find the 11th term of A. P. -3, —%, 2, ... .

6. HICh § RU &) § | T& AKT H TG HA 8, R

M & 9N 1
el @ WM e W A 9gYs @Y e §, dR
T W B ... &h (SRR, HATg)

4803/(Set : D) P.T.O.



(6) 4803/(Set : D)

Fill in the blank using correct word given in

bracket :

Two polygons of the same number of sides are
similar, if their corresponding angles are

............ . (equal, proportional)

7. I THET B & SFBAl B ST 7 : 3 3, A I

I TS B ST © 1
(A) V7 : 43 B) 7:43
(C) 7 :3 (D) T § ®IE T

Area of two similar triangles are in the ratio of 7 : 3,
then the ratio of their corresponding sides is :

(A) 7 : 43 B) 7:+3

(C) J7 3 (D) None of these

8. AR A gey BIgsl & gomel & g 5: 7 8, A

BIegstt & &eThal B STI © 1
(A) 15:14 (B) 25:49
(C) 49:25 (D) T & g T

4803/(Set : D)



(7) 4803/(Set : D)

If sides of two similar triangles are in the ratio
5 : 7, then areas of their triangles are in the

ratio :
(A) 15:14 (B) 25:49
(C) 49:25 (D) None of these

9. T fg 8 Th g0 W wWsl W %l T=E A HiT
Rl g & &= d g0 25 99 &1 g & Brear 7 &
& & 3l 1

Find the length of tangent drawn from a point
whose distance from the centre of a circle is

25 cm. Given the radius of circle is 7 cm.

10. (1,-3) ¥R (4, 1) fgall & &= &1 gl 9 i@ 1

Find the distance between the points (1, —3) and
(4, 1).

11. 3@ETS & FEEg oA HiG BEs R (4, 5) R
2, -1) Bl 1

Find the mid point of the line segment whose

end points are (4, 5) and (2, -1).

4803/(Set : D) P.T.O.



(8) 4803/(Set :

tan25°
cot 65°

12. & T 3T it

tan25°
cot 65°

Find the value of

13. IR cotAz%, A secAT:

17 8
(A) 5 (B) 17
(C) % (D) 3™ § H3 7

If cotA :%, then sec Ais :

17 8
A — B) —
(A 3 B -
15
(C) 17 (D) None of these

D)

14. 21 9 Brewr 9l Tk g9 & PeUErs & & Hd

I, I GUE H HT 60° Bl

1

Find the area of sector of circle with radius

21 cm, if angle of the sector is 60°.

4803/(Set : D)



(9) 4803/(Set : D)
15. T 9F H MER B AW 27 § T 36 S8

g T foRi® AR [ 1 i B STEe § 1
() nrl

(B) nrlh

(C) %nrQh

(D) ¥ & FIx Tl

The diameter of the base of right circular cone is
2r and its height h and slant height [ The
volume of the cone is :

(A) nrl
(B) nrh
(C) %nrzh

(D) None of these

16. % d7 § 3 @ T X 5 Frn Te T AR AT A
q IeRkes Merl S B, @ b A oM Bl AR
M BR ? 1

A bag contains 3 red and 5 black balls. If one
ball is taken out at random from the bag. What
is the probability that it will be Red ?

4803/(Set : D) P.T.O.



17.

18.

19.

20.

(10) 4803/(Set : D)
gos - §

SECTION - B

s #ifse 76 3V2 s omfey e R 3

Prove that 3\/5 is an irrational number.

EERE p(x):x4—3x2+4x+5 &l EERE
gx)=x%-x+1 & BRI 9F HOT SFHT AR
SEERIEIRET B 3
Divide the polynomial p(x)= x*-3x%+4x+5
by the polynomial g(x)= x2-x+1. Find the

quotient and remainder.

TF 9l AR W 3@ YER o 3§ 6 3E
Frraam R @R | 2.5 Hlo @ g W & T 3T Il
Ra g9ft & 6 Mo & F9R W & & Ragd &
TET B €IS B TR A S 3
A ladder is placed against a wall such that its
foot is at a distance of 2.5 m from the wall and
its top reaches a window 6 m above the ground.
Find the length of the ladder.

g FiT - 3
tan 0 N cot 0
l1-cot6 1-tan9

=1+ secOcosecH

4803/(Set : D)



21.

22.

23.

(11) 4803/(Set : D)

Prove that :

tan 0 N cot 0
l1-cotf6 1-tan9

=1+ secOcosecH

Th g9 P IRM @@ @ 33.6 A6 ¥ R g @
B 1T i 3

The circumference of a circle exceeds the

diameter by 33.6 cm. Find the area of the circle.

qis - 9

SECTION -C

1

2, - =
x-1 y-2

+ =

x-1 y-2

T WX e, e R o & 9w 15 fE/ave g,
30 RFft T & SRS STM AR agdl & § 4 € 30
e @ B S @ A S it 4

4803/(Set : D) P.T.O.



(12) 4803/(Set : D)

A motor boat whose speed is 15 km/h in still
water goes 30 km downstream and comes back
in a total of 4 hours 30 minutes. Determine the

speed of water.

24. % 1, 4,7, 10, ...... 3 fhae ug fom SE, aife See
IrT 176 81 ? 4

How many terms of sequence 1, 4, 7, 10, ......

should be taken so that their sumis 176 ?

25. T g @ g9 W d W wet Y@l @ awEd
TR Bl B, s afs 4

Prove that the length of tangents drawn from an

external point to a circle are equal.

26. 98 UM A e e Rgel AL, -5) @R
B(-4, 5) @ @™ amr W@Eee x99 fawifa g
Bl 39w g & e S st 4

Find the ratio in which the line segment joining
the points A(1, -5) and B(-4, 5) is divided by the
x-axis. Also find the coordinates of the point of

division.

4803/(Set : D)



27.

28.

29.

(13) 4803/(Set : D)

52 Ui P T TER | Bel T TH Teel § § Th qa
fepeT ST B W BN @ Wiehar Sd i (i) S
T H 969, (i) T B9 Fe| 4

One card is drawn from a well-shuffled deck of
52 cards. Find the probability of getting (i) a king
of red colour (ii) a face card.

gis - §

SECTION -D

T W Al § wEer 2x? +x-4=0 @
& i 5

Solve the equation 2x2 +x-4=0 by completing

the square method.

T B ABC® =T Hivie fTaehl o8 BC = 6 6,
AB =5 &f &R ZABC = 60° ¥ T% d9&q Brgs &t
A HIOT forge ome RU g Biys &t @@ ot
# 2 T 5
Construct a triangle ABC whose sides are
BC =6 cm, AB =5 cm and ZABC = 60°. Then

construct a similar triangle whose sides are %th

of corresponding sides of given triangle.

4803/(Set : D) P.T.O.



30.

31.

(14) 4803/(Set : D)
R #ifvT 5

JM =secA+tanA
1-sinA

Prove that :

JM =secA+tanA
1-sinA

YT
OR

1.5 1 &1 TH AR TF foel § 28.5 Hio &l 30 W
31 SEE SrEl | R & RmR & IE & 450 B
et @t Sar oy

A man 1.5 m tall is 28.5 m away from a
chimney. The angle of elevation of the top of the
chimney from his eyes is 45°. What is the height
of chimney ?

Gl 7 A a1 b AR &l b HUX T I T
goT 31 ST 1 SAHTH A T o Wbl © ¢ 39
YR S 3 B O SABA ST il 5

A cubical block of side 7 cm is surmounted by a
hemisphere. What is the greatest diameter of the
hemisphere can have ? Find the total surface
area of the solid.

4803/(Set : D)



(15) 4803/(Set : D)
32. Frefifed ool § wh o & i & e a9

Tg foar ™ § 5
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The following distribution shows the daily pocket
money of children of a school :

Daily Pocket |11-13|13-15|15-17|17-19|19-21|21-23|23-25

money (Rs.)

Number of 7 6 9 13 20 5 4

Children

Find the mean of daily pocket money of children.

g
OR
wH AT i 40 Ul B dEEA o aen 7§ e o &
T
wrargar (Bl ®) | 18-27 | 27-36|36-45|45-54| 54-63 | 63-72

gfat @ | 3 5 10 | 13 5 4

gl @ I A S BT
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The length of 40 leaves of a plant are measured

in mm and are given in the following table :

Length (mm) | 18-27 | 27-36 | 36-45 | 45-54 | 54-63 | 63-72

Numbers of Leaves 3 5 10 13 5 4

Find the median length of the leaves.
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